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ELECTIVE COURSE : ECONOMICS 

EEC-013 : ELEMENTARY STATISTICAL 
METHODS AND SURVEY TECHNIQUES 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Answer two questions from Part-A, four from Part-B 

and two from Part-C. 

	

PART - A 	 2x20=40 
1. What is a x2  distribution ? When do we use it ? 

Explain. , 

2. (a) Explain the concepts of 
(i) Acceptance Region, and 
(ii) Rejection Region 

(b) How does the size of sample affect the 
Rejection Region ? Why ? 

What is Kurtosis ? Differentiate between 
platy-kurtic, mesokurtic and Leptokurtic 
distributions. 
What do you mean by Secondary Data ? 
What are the important sources of 
secondary data in India ? 
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4. What do you mean by a Seasonal Index ? Outline 
procedure for calculation of seasonal index on the 
basis of quarterly data. You can use numerical 
example of your choice. 

PART - B 	 4x12=48 

	

5. 	Explain the time reversal test. Which Index 
numbers satisfy it ? 

	

6. 	Two banks are operating in a locality. First bank 
has 200 accounts with average balance of 
Z 21,500 while the Second Bank has 250 accounts 
with average balance of Z 22,500. Standard 
normal critical value for 1 percent level of 
significance is 2.58. What can you conclude 
about the banking habits of the customers of the 

two banks ? 

	

7. 	The probability that the product of a firm will be 
successful, given that the result of the pre-launch 
survey is favourable, is 0.6. The probability of its 
being successful with unfavourable survey is 0.3. 
If the probability of the survey showing favourable 
result is 0.7, find the probability that : 
(a) The product is successful, 
(b) Survey result is favourable, given that the 

product is successful, and 
(c) Survey result is unfavourable, given that the 

product is successful 

	

8. 	Calculate the correlation coefficient between X 
and Y, given that : 
n =10, XX =125, XY = 80, X,X2  =1585, IY2 = 650 
and IXY =1007 
Also interpret the coefficient and its sign. 
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9. What is the difference between linear interpolation 
method and compound Growth Rate method in 
population estimation ? If the population of India 
was 905 millions in 1995 and 1200 millions in 2005, 
then what was the population in 2000 ? Use both 
the methods. 

10. Explain the relationship between mean, median 
and mode of a distribution which is moderately 

skewed. 

PART - C 	 2x6=12 

11. Distinguish between Type I and Type II errors. 

12. What do you understand by a cost of living 
index ? 

13. What is an efficient estimator ? How is it different 
from a consistent estimator ? 

14. With a suitable example, explain the difference 
between class width and class boundaries of a 
distribution using inclusive approach. 
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